
Side 1 af 1 7/90 O.H.E

Mirakler

@ = 160

Indl. [$Gm |Gm |D%° /E|D%° /E|C° /E%|C° /E%|D7,9 /D|D7,9 /D](9) (6,7) (%6) (%6) (u5) (u5) +5(u1) (u1)

omkv. [Gm C/G Gm|Cm/G Gm|Gm/E% Cm/E% Gm/E%|Cm/E% Gm/E%|

|Cm D/C Cm|D/C Cm|D Gm D|Gm/D D]

vers 1 [Gm|E%/G|B%/F|Dm/F|F/A|C/G|Cm/E%|D4 D]

omkv. [Gm C/G Gm|Cm/G Gm|Gm/E% Cm/E% Gm/E%|Cm/E% Gm/E%|

|Cm D/C Cm|D/C Cm|D Gm D|Gm/D D]

vers 2 [Gm|E%/G|B%/F|Dm/F|F/A|C/G|Cm/E%|D4 D]

B-stk. [Cm D/C|Cm D/C|E% F/E%|E% F/E%]

|G% A%/G%|G% A%/G%|Cm/G Gm|Cm/G Gm|

[Gm |Gm |C/F|C/F|Cm /E%|Cm /E%|Gm /D|D ](4) (9) (9) (6,9) (9) (4,+5,7)

|Gm /B%|Gm /B%|C /F|C /F|B% /F|B% /F|B%ó4/G%|B%ó /D|(4) (9) (7,9) (7,9) (9) (4,9) +5

|Gm /B%|Gm /B%|D%° |D%° |C° /E%|C° /E%|D7,9 /D|D7,9 /D|(9) (6,7) (%6) (%6) (u5) (u5) +5(u1) (u1)

omkv. [Gm C/G Gm|Cm/G Gm|Gm/E% Cm/E% Gm/E%|Cm/E% Gm/E%|

|Cm D/C Cm|D/C Cm|D Gm D|Gm/D D]

S-solo [Gm C/G Gm|Cm/G Gm|Gm/E% Cm/E% Gm/E%|Cm/E% Gm/E%|

|Cm D/C Cm|D/C Cm|D Gm D|Gm/D D]

ml.sp. |Gm/D|D|Gm/D|D|

G-solo [Gm|Dm/G|Cm9 /G|Cm9/G|Gm/E%|Dm/E%|Cm9 /E%|Cm9/E%|(u1) (u1)

|Gm/C|Dm/C|Cm9 /C|Cm9|Gm/D|D|Gm/D|D]Gm ><<<}(u1)
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